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SA7FCH1 BIRME
BEX BERXi s z pid
=B 1TH 117 126 243
=& 2TH 112 128 240
] =B 3TH 76 68 144
=&k 4TH 62 65 127
=& 5TH 12 18 30
INEE 379 405 784
Bl HET 254 281 535
o E LS 195 210 405
X 14 H] 225 255 480
INEE 674 746 1,420
=& 5TH 107 126 233
3 B A AT 216 229 445
AN 151 145 296
INEE 474 500 974
E £ HI 157 194 351
4 § Tk 655 818 1,473
B o4 Hr 105 121 226
INEE 917 1,133 2,050
5 IR 513 519 1,032
F I 441 473 914
6 N R 977 1,056 2,033
INET 1,418 1,529 2,947
*x H 278 314 592
R Hr 306 351 657
5 W 5 ET 340 397 737
= Il BT 476 488 964
X A 181 205 386
INET 1,581 1,755 3,336
i 5h OHT 117 113 230
8 @ 4 W HT 234 229 463
B | HT 242 256 498
INE 593 598 1,191
9 By B 165 174 339
10 Lt = H 1,429 1,520 2,949
11 = H 2,724 2,968 5,692
12 £ % 512 536 1,048
13 & H 611 633 1,244
14 N & 538 543 1,081
15 B W M 182 167 349
16 = P 319 313 632
T = H 1,291 1,379 2,670
17 A I 217 331 548
INEF 1,508 1,710 3,218
18 = A 234 246 480
A I 69 64 133
19 m = 984 985 1,969
INEF 1,053 1,049 2,102
X & 52 57 109
AR 46 55 101
EE 137 148 285
20 £ H 123 145 268
= F 78 89 167
T = H 698 805 1,503
INET 1,134 1,299 2,433
16,958 18,343 35,301
5 z RE

o h X Bl & §%F 4 = = 6,812 7,471 14,283
M T # 6,256 6,660 12,916
) = 3,890 4,212 8,102
Z= it 16,958 18,343 35,301
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SA7TFECATHIRTE
BEX BERXi s z pid
=B 1TH 117 126 243
=& 2TH 112 128 240
] =B 3TH 76 68 144
=&k 4TH 62 65 127
=& 5TH 12 18 30
INEE 379 405 784
Bl HET 255 281 536
o E LS 195 211 406
X 14 H] 225 256 481
INEE 675 748 1,423
=& 5TH 107 126 233
3 B A AT 216 229 445
AN 150 145 295
INEE 473 500 973
E £ HI 157 194 351
4 § Tk 656 820 1,476
B o4 Hr 105 121 226
INEE 918 1,135 2,053
5 IR 513 519 1,032
F I 441 473 914
6 N R 978 1,056 2,034
INET 1,419 1,529 2,948
* H 279 315 594
R Hr 307 352 659
- W 5 ET 340 397 737
= Il BT 476 488 964
X A 181 205 386
INET 1,583 1,757 3,340
i 5h OHT 116 113 229
8 @ 4 W HT 234 229 463
B | HT 242 256 498
INET 592 598 1,190
9 By B 165 174 339
10 Lt = H 1,428 1,517 2,945
11 = H 2,724 2,968 5,692
12 £ % 512 536 1,048
13 & H 611 634 1,245
14 N & 538 541 1,079
15 B 2 M 182 166 348
16 = P 319 313 632
T = H 1,292 1,379 2,671
17 A I 217 331 548
INEF 1,509 1,710 3,219
18 = A 234 246 480
A I 69 64 133
19 m = 986 985 1,971
INET 1,055 1,049 2,104
X & 52 57 109
AR 46 54 100
EE 137 149 286
20 £ H 123 145 268
= F 79 90 169
T = H 698 805 1,503
INEF 1,135 1,300 2,435
16,964 18,345 35,309
5 z RE

o h X Bl & §%F 4 = = 6,815 7,476 14,291
M T # 6,255 6,656 12,911
) = 3,894 4,213 8,107
Z= it 16,964 18,345 35,309
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=B 1TH 116 126 242
=& 2TH 111 127 238
] =B 3TH 77 68 145
=&k 4TH 62 65 127
=& 5TH 12 18 30
INEE 378 404 782
Bl HET 254 283 537
o E LS 196 209 405
X 14 H] 223 253 476
INE 673 745 1,418
=& 5TH 107 126 233
3 B A AT 215 228 443
AN 151 145 296
INEE 473 499 972
E £ HI 159 194 353
4 § Tk 655 816 1,471
B o4 Hr 104 121 225
INEE 918 1,131 2,049
5 IR 514 519 1,033
§ i3 438 471 909
6 N R 977 1,059 2,036
INET 1,415 1,530 2,945
* H 280 316 596
R Hr 307 355 662
5 W 5 ET 342 396 738
= Il BT 476 491 967
X A 180 203 383
INET 1,585 1,761 3,346
i 5h OHT 117 115 232
8 [ 4 W HT 233 229 462
B | HT 243 255 498
INE 593 599 1,192
9 7 B 166 174 340
10 Lt = H 1,432 1,521 2,953
11 Lt = H 2,732 2,965 5,697
12 £ % 511 538 1,049
13 & H 610 634 1,244
14 N & 532 539 1,071
15 B 2 M 182 166 348
16 = P 321 314 635
T = H 1,297 1,379 2,676
17 A I 217 331 548
INET 1,514 1,710 3,224
18 = A 234 246 480
A I 69 64 133
19 m = 989 981 1,970
INEF 1,058 1,045 2,103
X & 51 56 107
IR 47 54 101
EE 137 154 291
20 £ H 123 144 267
= F 78 89 167
T = H 700 808 1,508
INET 1,136 1,305 2,441
16,977 18,345 35,322
5 z RE

o h X Bl & §%F 4 = = 6,813 7,472 14,285
M T # 6,259 6,661 12,920
) = 3,905 4,212 8,117
Z= it 16,977 18,345 35,322




